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QUESTION 1

Which parameter must be set to which value to implement automatic PGA memory management?
A. Set memory_target to zero.

B. Set STATISTICS_LEVEL to BASIC.

C. Set pga_aggregate_target to a nonzero value.

D. Set pga_aggregate_target and sga_target to the same value.

E. Set sgajtarget to zero.

Correct Answer: C

Reference: http://docs.oracle.com/cd/B28359_01/server.111/b28310/memory004.htm#ADMIN11233

QUESTION 2

You issued these commands for one of your databases:

RMAN> BACKUP INCREMENTAL LEVEL 0 DATABASE;

RMAN> ALTER DATABASE ENABLE BLOCK CHANGE TRACKING USING

FILE “/mydir/rman_change_track.f\\';

RMAN> BACKUP INCREMENTAL LEVEL 1 CUMULATIVE DATABASE;

Which two are true? (Choose two.)

A. The cumulative incremental level 1 database backup ignores the block change tracking file.
B. Future cumulative incremental level 1 database backups will reference the block change tracking file.
C. Future incremental level O database backups will reference the block change tracking file.
D. The cumulative incremental level 1 database backup fails.

E. The block change tracking file will be updated automatically after creation to refer to modified blocks contained in the
incremental level 0 database backup.

Correct Answer: BE

Reference: https://docs.oracle.com/database/121/ADMQS/GUID-3BAA0D48-CA35-4CD7-810E50C703DC6FEB.htm

QUESTION 3

Examine the command:
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$ expdp SYSTEM FULL=YES DUMPFILE=dpump dirl:fulll$%U.dmp,
dpump dir2:full2%U.dmp, dpump dir3:full3%U.dmp FILESIZE=400M
PARALLEL=3 JOB_’.-\IP&ME=expfull

Which statement is true about the execution of the command?

A. It fails because the log file parameter is not specified.

B. It fails because no absolute path is specified for the log file and dump file.

C. It succeeds and exports the full database, simultaneously creating three copies of dump files at three different
locations.

D. It succeeds and exports the full database, simultaneously creating three dump files at three different locations, but
the total number of dump files can exceed three.

Correct Answer: D

QUESTION 4
Examine this parameter in a database\\'s PFILE:
DB_CREATE_FILE_DEST = \\/uOl/app/oracle/oradata/\\'

You execute this command: Which three are true after successful database creation? (Choose three.)

S0L> CREATE DATABASE cdbl

DEFAULT TABLESPACE users

DEFAULT TEMEBORARY TABLESPACE temp

UNDO TRELESPACE undotbsl

ENABLE PLUGGABLE DATABASE
SEED
SYSTEM DATAFILES SIEE 125M AUTOEXTEND ON NEXT 10M MAXSISEE UNLIMITED
SYSAUX DATAFILES SIZE 100n;

A. Local Undo is enabled.

B. The files created for both the root and seed databases use Oracle Managed Files (OMF).
C. PDB$SEED is open read-only.

D. PDB$SEED is mounted.

E. USERS will be the default tablespace for PDB$SEED.

F. CDB$ROOT is open read/write.

Correct Answer: ABD
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QUESTION 5
Which two statements are true about service for pluggable databases (PDBs)? (Choose two.)

A. The default service that is automatically created by a database at the time of PDB creation can be dropped, provided
a new additional service is created.

B. When a PDB is created, a service is automatically started in the instance with the same name as the PDB.

C. A database managed by Oracle Restart can have additional services created or existing services modified by using
the SRVCTL utility for each PDB.

D. When a PDB is created, a service with the same name as the PDB is created in the PDB.
E. Only a common user can create additional services for a PDB.

Correct Answer: BC
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